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Abstract

I evaluate three replies to skepticism, drawing conclusions about the meaning of
“justified”, the viability of foundationalism, the value of knowledge, and the role of
belief in rational action.

In the first chapter, I examine the following skeptical argument: Something is
justified only if justified by a justified thing; circular and infinite chains of justi-
fication are illegitimate; therefore, no belief is justified. A linguistic investigation
reveals that this argument contains two ambiguities not yet noticed by epistemolo-
gists. The linguistic observations favor foundationalism about justification, showing
how the foundationalist can maintain his view, while explaining away the force of the
skeptical argument. However, in the second chapter, I argue that foundationalism
is unsatisfactory, for non-skeptical reasons. If a foundationalist tries to explain how
some things can be basic, then she must endorse a certain kind of circularity. But a
foundationalist should not endorse this circularity.

Dissecting a single skeptical argument is an interesting although limited endeav-
our. In the third chapter, I argue that an entire class of skeptical arguments can
be avoided. Distinguishing rational action from rational belief change, I claim that
certain changes in belief cannot occur during a rational act. In particular, I argue,
some skeptical conclusions cannot be accepted while performing an ordinary rational
act. The main conclusion of this chapter is: to avoid acting irrationally, it is rational
to avoid certain skeptical arguments.

Sometimes it is better to concede to skepticism than to flee. In the fourth chapter,
I argue that knowledge is no more valuable than stable true belief. This surprising
claim supports the conclusion that skepticism about knowledge is harmless. Even
if we cannot know anything about the external world—or even if we cannot know
anything at all—we may have something just as valuable as knowledge: stable true

beliefs.
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Title: Professor
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Chapter 1

What justifies that?

Abstract

I clarify and defuse an argument for skepticism about justification with the aid of some
results from recent linguistic theory. These considerations shed light on discussion
about the structure of justification.

1.1 Introduction

If the house is surrounded, then the house is surrounded by something. If your glass
is filled, ther your glass is filled by something. If an eye is opened, then an eye is
opened by someone. If my belief is justified, is my belief justified by something? It
is difficult to resist saying yes; in general, it is difficult to resist the following claim:

For any B, if B is justified, then B ts justified by something.

Yet, resistance matters. The claim plays a role in a central argument for skepti-
cism about justification. The claim also figures importantly in arguments against
foundationalist accounts of justification.

In this chapter, I examine whether the claim can be successfully resisted. As a
test case, I consider a skeptical argument that relies on the claim. With the help of
a little linguistics, I clarify the skeptical argument, arguing that we can both reveal
flaws in the argument, and explain its apparent compellingness. I then draw some

conclusions about discussion of the structure of justification.
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Let us now see the claim at work in a skeptical argument.

1.2 The Agrippan argument

One venerable argument for skepticism about justification goes like this. Suppose that
one of my beliefs is justified. Since my belief is justified, it is justified by something.
Now, if what justifies my belief is not itself justified, then my belief is not justified.
So, what justifies my belief is justified. But if what justifies my belief is justified,
then it is justified by something. And so on. This process either moves in a circle,
or goes on nfiritely. Since neither a circle nor an infinite chain suffices to justify my
belief, my belief is not justified. Thus we have a reductio of the claim that my belief
is justified. This argument can, at any time, be given by anyone, about any belief.
So, no belief can ever be justified.!

I suspect that few philosophers are driven to skepticism about justification by the
Agrippan argument on its own, for there are many ways to try to avoid the conclu-
sion. According to coherentism, a circular chain of justification can be legitimate.
A foundationalist thinks that each chain eventually ends. Infinitism says that an
infinite chain of justification can be acceptable. These views about the structure of
justification appear in various forms and combinations.

Although few philosophers are swayed by the Agrippan argument, many philoso-
phers rely on parts of the Agrippan argument. The best argument for coherentism
relies on the Agrippan argument (minus the premise that circular chains of justi-
fication are always illegitimate). The best argument for foundationalism relies on
the Agrippan premise that neither circular nor infinite chains suffice for justification.
Thus, plenty of non-skeptics should be interested in the Agrippan argument. An
examination of the Agrippan argument might shed light on discussions about the

structure of justification.

10Of ancient lineage, such skeptical reasoning appears in Sextus Empiricus, Outlines of Pyrrhonism
and Against the Mathematicians. Diogenes Laertius (IX 88) attributes it to one Agrippa, a philoso-
pher otherwise unmentioned in ancient manuscripts. J. Barnes discusses the Agrippan reasoning
helpfully in The Toils of Scepticism.
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This rest of this chapter is organized as follows. In section 3, I make the premises
of the Agrippan argument explicit. Then, in sections 4 and 5, I try to show that
attention to linguistic issues shows that the argument is unsound, and explains why

it appears sound. Finally, in section 6, I draw some conclusions.

1.3 The Agrippan premises

The Agrippan argument, as just presented, is a reductio of the hypothesis that some
belief is justified, relying on the following three premises:?
Premise I: For any A, if A is justified, then A is justified by something.

Premise II: For any A and B, if A is justified, and A is justified by B, then B is
justified.

Premise III: Neither circular nor infinite chains suffice to confer justification.

So let me now turn to Premise I and Premise II.

1.3.1 Premise I and Premise I1

Premise I is very compelling:
Premise I: For any A, if A is justified, then A is justified by something.
To any claim that A is justified, it seems one can coherently ask “What justifies A?”
And not only can “what justifies A7” be coherently asked, the following response is
inadequate: “Nothing justifies A, it just is justified.” That the question “what justifies
A7’ can be asked, demanding a substantial response, is evidence that, for any A, “A
is justified” entails “Someone or something justifies A” which, in turn, leads to “A is
justified by someone or something.”

Moreover, two analogies motivate Premise I. 1. Suppose Alfred was infected with a
nasty cold. Clearly, Alfred was infected by someone (Ethelred perhaps) or something
(like a dirty glass). If becoming justified is relevantly like getting infected, then: if

2In presenting the premises, | make no mention of belief. In Premises I and II, the quantifiers
could range over beliefs, collections of beliefs, or something else. For present purposes, assume that
the quantifiers range over anything epistemically relevant. (Although I am discussing the argument
as if the conclusion is that no belief can be justified, it should be noted that similar reasoning may
be used to argue that no action, nor person, nor anything else can be justified.)
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belief A is justified, then A is justified by something. 2. To be justified is to be
supported. But if something is supported, it has a support. If a book is supported,
it is supported by something. If the analogy holds, then: if a belief is justified it is
justified by something.

According to Premise II,

Premise II: For any A and B, if A is justified, and A is justified by B, then B is
justified.

This makes sense. Certainly not just anything will serve as a justifier. In particu-
lar, it’s difficult to see how a B lacking justification could be a justifier. Consider an
example. Suppose your friend tells you that he believes that the Queen of England
is in San Francisco. “That’s interesting,” you say. “Why do you believe that?” “Be-
cause all the heads of state in the world have moved to San Francisco.” “Really?”
you reply. “Why do you believe that?” “Oh, no reason at all. I just believe it,” he
answers. Assuming that your friend is speaking sincerely, your friend’s belief that the
Queen of England is in San Francisco seems to lack justification. And that belief,
apparently, does not justify his belief that the Queen of England is in San Francisco.
To reject Premise II is to embrace the possibility that a chain of justification can
legitimately end with something which lacks justification.

Notice that Premise II can also be motivated by the support analogy. If a book is
supported, and it is supported by a shelf, then the shelf is supported too. If the shelf
were not supported— for example, by the wall- then the book would not be supported.

So, it appears that Premise I and Premise II are both plausible. Now a few brief

remarks about Premise III.

1.3.2 Premise 111

Premise III: Neither circular nor infinite chains suffice to confer justification.

Two analogies will reveal the plausibility of Premise III. Fully defending Premise
ITI would require arguing against various forms of coherentism. Although important,

this is not my present task.
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First Analogy

Think of a belief’s being justified by something as like a book’s being physically
supported by something. For example, my copy of The Great Chain of Being is
supported by a shelf. Moreover, my book is part of a structure of support: my book
is supported by the shelf; the shelf is supported by the wall; the wall is supported by
the foundation of the building; and so on.

Now, plausibly, if a book is supported, then it is part of an acceptable sup-
port structure. And, clearly, some structures of support are not acceptable. Self-
supporting structures, for example, are not acceptable: the book cannot be physi-
cally supported by itself. In addition- if the support relation is transitive— no circular
structures are acceptable. You see the point: if, as seems plausible, “A is justified by
B” describes a relation between A and B that is anti-symmetric and transitive, then
A’s being part of a circular chain does not suffice to make A justified.?

We can rule out infinite structures of physical support with empirical premises.
Infinite structures of physical support require an infinite amount of matter. If there is
a finite amount of matter in the universe, then infinite structures of physical support
are impossible. Similarly we may look for empirical premises to rule out infinite chains
cf justification. Since humans are finite, they cannot understand infinite chains of
justification. So infinite chains do not suffice to make human beliefs justified.*

An analogy is not an argument. Still, if being justified by something is relevantly
like being physically supported by something, then we have reason to accept Premise

III.

Second Analogy

Think of a belief’s being justified as like a person’s catching a cold. A healthy
person can be infected by coming into contact with a person who is already infected.

Consider, for simplicity, a cold caused by a virus that cannot survive outside a human

3J. Barnes makes this and other helpful points in The Toils of Skepticism.

4A thought like this goes back to at least Aristotle, Posterior Analytics 1.3. Much more ought to
be said to turn this thought into an argument. Recently, Peter Klein has defended the viability of
infinite chains. See [38].
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body. And suppose that a person can be infected with this virus only once in his
lifetime.

Now if Arnold was infected by Ziggy, and Ziggy was infected by Leonard, then it
does not follow that Arnold was infected by Leonard. At least, it is not obvious that
the relation of being infected by is transitive. Still epidemiological circles are ruled
out because we are assuming that you can only be infected by this virus once in your
lifetime. So it cannot be that you infected yourself; and it cannot be that Arnold
was infected by Ziggy, and Ziggy was infected by Arnold. Moreover, since there have
only been finitely many people existing in the world, a chain of infection cannot trace
back through an infinite number of different people.

According to this analogy, A gets justified by being “infected” by some B that
is already “infected”. If A is justified by B, then A is justified only if B is already
justified. A can’t “infect” itself with justification, nor can A get “infected” by being
part of a circular chain. If there are only finitely many justifiable things then we can
rule out infinite chains too.

If being justified is relevantly like catching a cold, then it seems that we have some
reason to accept Premise III.

So, it appears that Premise III, as well as Premise I and Premise II, are plausible.
And it also appears that accepting each of Premise I, IT and III leads to skepticism
about justification. However, despite appearances, skepticism about justification does
not follow from Premise I, II and III. To see this we will need some conceptual
sharpening. A little linguistics will help to get clearer about what is the case when

something is justified.

1.4 Some ambiguity

Sentences of the form “X is justified” are syntactically ambiguous. They have at least
three distinct readings. Call this the embiguity thesis.
If the ambiguity thesis is correct, then Premise I and Premise II are syntactically

ambiguous too. If so, then the soundness of the Agrippan argument is suspect. For

18



the argument is sound only if those disambiguations of Premise I and II that are true,
are sufficient (with Premise III) for the conclusion.

I will defend the claim that the Agrippan argument has an unfilled gap: the
plausibly true readings of Premise I and II are not sufficient (with Premise III) for
the conclusion.

I will also defend the claim that the ambiguity thesis helps explain the plausi-
bility of the Agrippan argument: Premise I and II are plausibly true on different
disambiguations of “A is justified”, and we fail to notice the shift between readings.

I will now present evidence to support the ambiguity thesis. After that, I will

argue for the two further claims.

1.4.1 An old worry?

Some philosophers have worried that the meaning of “justify”, and “justified” varies
with context, and that this causes confusion in epistemological discussion. These
are concerns that, I think, are on the right track. However, in the literature, these
concerns are presented unclearly and confusedly. Here are two examples.

1. Some philosophers observe that a sentence like “My belief is justified” can
apparently be understood merely to say that my belief has a certain status, that of
being justified. But on a different understanding, the sentence seems to describe the
activity of a person showing that a belief has that status.’

2. Some philosophers have noticed that justification sometimes seems to come in
degrees, and sometimes not. On the one hand, one belief may be more justified than
another. On the other hand, it seems that having a status does not come in degrees;

a belief either has the status of being justified or not.6

5W. Alston remarks on the “pervasive confusion between the activity of justifying a belief- showing
the belief to be reasonable, credible, or justified- and a belief’s being justified, where this is some
kind of epistemic state or condition of the believer.” (“What’s Wrong with Immediate Knowledge?”
p 70). See also (“Level Confusions in Epistemology” p 166). R. Audi makes a similar point in The
Structure of Justification (pp 25-26, also chapters 4 and 10), as does J. Pryor (“The Skeptic and the
Dogmatist”, p 535), who claims that the status of being justified is “epistemologically primary”. R.
Chisholm conspicuously avoids forms of the word “justify” in his epistemic principles and definitions
in Theory of Knowledge (pp 135-140).

SA. Goldman, for example, notices this in “What is Justified Belief?” and in chapter 4 of
Epistemology and Cognition.
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In other work, I plan to address the second worry, and its relevance to skepticism

about justification. My claims here are connected to the first worry.

1.4.2 Eventive and stative readings of passive sentences

“An analysis of sentences like “My belief is justified” is rather complicated, so let me

begin with some simpler examples:
1 That door was closed
2 My house was surrounded

Passive sentences like 1 and 2 have two easily distinguishable readings. On one
reading, 1 describes an event or a process, namely someone (or something) closing a
door.® On another reading, 1 describes a state, namely the state of the door after
having been closed. Similarly, 2 can describe the event of someone (or something)
surrounding my house; or it can describe the state of my house after having been
surrounded. Many— perhaps most— English verbs form passive sentences with these
two readings.

This difference, between a stative reading of 1 and an eventive reading of 1 can be

even more clearly seen if we add a time modifier:
3 That door was closed yesterday at 3pm

Was the door in a closed state just before 3pm yesterday? On an eventive reading,
the door was in an unclosed state just before 3pm, and then someone or something
closed it at 3pm. On a stative reading, the door may or may not have been in a

closed state just before 3pm. So, the two readings of “That door was closed yesterday

"The discussion in this section and the next is indebted to Embick (2000), Marantz (2000) and
Marvin (2000). Many of the example sentences are from Embick (2000). Thanks to Tatjana Marvin
and Karlos Arregi.

8From now on I will just say “event” because I am not here examining the differences (if any)
among events, processes and other non-states. Also, for convenience, I will sometimes speak loosely,
saying that a sentence S entails the existence of some event. What I mean is that S entails §’, where
S’ is a sentence that is often taken by philosophers to describe an event. Whether or not you take
S’ to commit one to the existence of an event depends on your own ontological scruples.

20



at 3pm” have different entailments. Using a superscript E to indicate an eventive

reading, and a superscript S for a stative reading, we can say that “That door was

"E entails

closed yesterday at 3pm
4 That door was not in a closed state yesterday just before 3pm

while “That door was closed yesterday at 3pm.” lacks this entailment.

Similarly,
5 My house was surrounded by Federal agents yesterday at 3pm

can describe the state of my house yesterday at 3pm, or, instead, an untoward event

at that time.

1.4.3 Another stative reading

Consider the following sentences:

6 That door was built closed

7 My house was built surrounded

8 * That door was built opened

9 * That door was built smashed
10 * That kettle was forged cleaned

8, 9 and 10 are very odd.® However, 6 and 7 make perfect sense. The problem
with 8 seems to be that “opened” indicates not only that the door was in an open
state, but also that there was an earlier door opening. But, if the door was built
that way, there was no earlier door opening. Similarly, the problem with 9 seems to

be that “smashed” indicates not only that the door was in a smashed state, but also

9The “*’ indicates that most native English speaking informants judge that sentence to be un-
grammatical. Some informants do find some of the starred examples acceptable, but I have found
no one who finds all such examples acceptable. (J. Pryor and J. Wilson helped think of examples.)
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that there was an earlier door smashing. But, if the door was built that way, there
was no earlier door smashing.

The data suggest the following. “That door was opened” (on a stative reading) en-
tails the existence of an earlier event of opening that door. “That door was smashed”
(on a stative reading) entails the existence of an earlier event of smashing that door.
“That kettle was cleaned” (on a stative reading) entails the existence of an earlier
event of cleaning that kettle.

On the other hand, “That door was closed” (on a stative reading) need not entail
that there was an earlier event of closing that door. And “My house was surrounded”
(on a stative reading) need not entail that there was an earlier surrounding event.

In short, it appears that there are two stative readings available for passive sen-
tences: an eventive stative reading, which entails the existence of a certain earlier
event and a pure stative reading, which lacks this entailment. I'll indicate the even-
tive stative reading with a superscript ES, reserving the superscript S for the pure
stative reading. Thus, if “X was V’ed” has both an eventive stative and a pure stative
reading, then “X was V’ed”FS entails “Someone (or something) V’ed X”,'® while “X
was V’ed”$ lacks this entailment.

Given that two stative readings are available for passive sentences, one might ask
whether any single passive sentence exhibits both stative readings. I believe that the
answer is yes, although I am unable to show this by simple and intuitive means. Still
there is the thought from the last section: “On another reading, 1 describes a state,
namely the state of a door after having been closed.” Did you find that peculiar
when I said it? If not, you have a reason to think that “That door was closed” BS is
available.

Despite the lack of a compellingly clear example, I will maintain that some passive
sentences (like “That door was closed”) have at least three readings: the eventive,
the eventive stative and the pure stative. I adopt this hypothesis to help simplify

the exposition of my argument; the argument survives (in a modified form) without

10Where this is a (disambiguated) sentence describing an event. Note that in this generalization
‘ed’ represents the appropriate passive or past tense ending. For example, the passive “The window
was broken” entails the past tense “Someone (or something) broke the window”.
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it. Sufficient for a version of my argument is a weaker claim: some passive sentences
have both an eventive and an eventive stative reading; some passive sentences have
both an eventive and a pure stative reading. I believe that the weaker claim is well

supported by the intuitive examples I have given.

1.4.4 Summary

This table summarizes the three readings of some passive sentences:

Eventive SE | describes the occurrence of an event

Eventive Stative | SZ5 | a state resulting from an earlier event

Pure Stative S5 | a “pure” state: no earlier event implied

1.4.5 A syntactic ambiguity

I have just suggested that some passive sentences have at least three readings. The
argument was rough, based on intuitive judgments about meaning and entailment.

That there are three readings of sentences like “That door was closed” is compat-
ible with recent linguistic theory. Some generative linguists theorize that sentences
like “That door was closed” and “My house was surrounded” are syntactically am-
biguous. According to them, such English sentences correspond to at least three
distinct syntactic structures.!!

One might try to explain the differences without positing a syntactic ambiguity.
What is important here is that, however the differences between S€, S¥S and S5 are
explained, they may have different entailments. I assume that this claim has been
made reasonable. My main claims in this chapter neither depend on the claim that
the ambiguity is syntactic, nor depend on a particular syntactic theory. My claim
so far is that some passive sentences have three readings, and these readings have

different entailments.!?

11Gee, for example, Embick (2000).

12Note that Kratzer (2000) develops a slightly different distinction (due to Parsons (1990)) between
target state passives and resultant state passives: “If I throw a ball onto the roof, the target state of
this event is the ball’s being on the roof, a state that may or may not last for a long time. What
I am calling the Resultant-state is different; it is the state of my having thrown the ball onto the
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However, that there is a reasonably well developed syntactic theory, attempting to
explain the three readings as a case of syntactic ambiguity, supports what I will say
in at least two ways. First, the notion of syntactic ambiguity seems to me to be one
that is both less controversial and easier to understand than, for example, various
mysterious claims that philosophers are prone to make about context dependence.
Secohd, the syntactic theory is intended to explain other kinds of data. It has a
degree of empirical support, both by English and by other languages. So if a syntactic
ambiguity is posited by such a theory, we have reason, beyond the rough intuitive
evidence above, to believe that it is present. In particular, we have a reason to believe

that a syntactic ambiguity is present that is independent of philosophical exigencies.

1.4.6 “justified”, finally

Like “That door was closed” and “My house was surrounded”,
11 My belief was justified

has at least three readings. As before, it is easy to distinguish an eventive reading

from a stative reading by adding an indication of time:
12 My belief was justified yesterday at Spm

For an eventive reading, one can imagine that the evidence arrived yesterday at
3pm, thereby justifying my belief. On a stative reading, the sentence describes the
state of my belief yesterday at 3pm."

As before, we can test for a pure stative reading. The sentence

13 My belief was formed justified

roof, and it is a state that cannot cease holding at some later time.” (Parsons (1990), p 234 quoted
by Kratzer (2000), p 2.) I don’t believe that this way of drawing the distinction is correct because
it mistakenly predicts that “That door is opened” can be true if someone opened the door, closed
it again, and now the door remains firmly shut. In any event, Kratzer agrees that some passive
sentences are ambiguous between a reading which is event entailing and a reading which is not.
13Both “Rico’s belief was justified by him” and “Rico’s belief was justified by the evidence” have
eventive readings. So the eventive/stative distinction I am drawing is not the one mentioned earlier
between a person’s performing an activity, and a belief’s having a certain status. (See footnote 5.)
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is as innocuous as “That door was built closed”, and “That house was built sur-
rounded”. Moreover, “My belief was always justified” is acceptable too. Thus, it is
reasonable to conclude, as before, that there is a stative reading of “My belief was
justified” that entails that there was a justifying event, and a stative reading that

lacks this entailment.!

1.4.7 A further complication

Before I can connect these observations to the Agrippan argument, I need to clarify
the entailments of different passive sentences.

So far, I have concluded that, where S is a passive sentence with all three readings,
both SE and SZ5 entail the existence of a certain event, while S° does not. “X
was V'ed”Z and “X was V’ed”® both entail “Someone (or something) V’ed X”. “X
was V’ed”S does not. For example, “That door was closed”F entails “Someone (or
something) closed the door”, as does “That door was closed.” 5 “That door was
closed”® does not entail “Someone (or something) closed the door”. “That door was
closed”S describes the door as being in a certain state. “That door was closed” &S
describes the door as being in a certain state as the result of a closing event.

However these conclusions need to be qualified. Sometimes “X was V’ed”’ does
entail “Someone (or something) V’ed X”. To see this, note that “surround” differs
from “closed”. If the door was built closed, then it is not the case that someone

closed the door. Even if my house was built surrounded, then something surrounded

14The data is confusing. Some native English speakers find “My belief was formed justified” odd.
Thus, according to them, “My belief was justified” resembles “The door was opened”, in having only
the eventive and the eventive stative readings. (Alec Marantz (p.c.) also suggests that there are
some theoretical reasons to expect that “justified” is like “opened”, and thus that “My belief was
justified” lacks the pure stative reading.) Other native speakers find that they cannot hear anything
like an eventive stative reading of “My belief was justified”. According to them, “My belief was
justified” only has the pure stative and eventive readings.

If there are indeed two rather than three readings of “My belief is justified”, the claim I will make
about arguments that use sentences like “My belief is justified” survives in a modified form. Even if
no passive sentence exhibits both stative readings, as long as some passive sentences have an eventive
stative reading, and some passive sentences have a pure stative reading, one may claim that people
can be unsure or confused or even disagree about whether a non-eventive reading of “My belief is
justified” is an eventive stative or a pure stative. This is enough for the kind of argument I am
making.
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my house. “My house was surrounded”® entails “Something surrounded my house”.

Noting a further ambiguity shows how to repair the conclusions. The active sen-
tence “Something surrounded my house” has both an eventive and a stative reading.
One can see the contrast by comparing “Someone closed the door at 3pm yesterday”
with “Something surrounded my house at 3pm yesterday”. The former has one, even-
tive, reading. The latter has both stative and eventive readings. That suggests the
following generalizations. “X was V’ed”S does not entail an eventive “Someone (or
something) V’ed X”. However, for some, but not all, choices of V, “X was V’ed”S
does entail a stative “Someone (or thing) V’ed X”.

What about “My belief was justified”® ? This is not an easy question. It is
not obvious whether being justified is like being closed or like being surrounded.
The active sentence “Something justified my belief” has both eventive and stative
readings. But if my belief was always justified, did something justify my belief? That
is not clear to me. If “My belief was justified”® is true, did something justify my
belief? I am not sure, but I hope to find out.

The cogency of the Agrippan argument hinges on the answer.!®

1.4.8 A is justified by B

Before returning to the Agrippan argument, I must discuss different readings of pas-

sive sentences including a by-phrase: “That door was opened by John”, or “My belief

150ne further complication deserves mention. While I have discussed past tense passive sentences,
the Agrippan argument is given in the present tense. Pure stative, eventive stative, and non-stative
readings are aiso available in the present tense.

Non-stative readings are easily recognized. “That door is closed” has the habitual reading that
someone usually closes the door. There is also the so-called “sportscaster” reading. Imagine an
announcer narrating the action in a play. “She walks toward the open door. Suddenly, the door is
closed. ‘Must’ve been the wind’ she says.” “My belief is justified” has these non-stative readings
too.

Now that I have identified them, in what follows, I will ignore non-stative readings of “A is
justified”. I do so because non-stative readings are easy to distinguish from stative readings. For
example, nrither the habitual reading nor the sportscaster reading is likely to cause confusion in
our understanding of the Agrippan argument. Perhaps confusion between stative and non-stative
readings plays a role in other epistemological discussions. I just doubt that that is the case here.

More importantly, the pure stative/eventive stative distinction is also seen in the present tense.
Note the contrast between “The door is closed” and “The door is opened.” While “The door
is closed” may be true because the door was built closed, “The door is opened” is, on a stative
reading, only true if there was an earlier door opening event.
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is justified by the evidence”.

In “The rabid dog was killed by the laws of Texas”, the word “by” means “ac-
cording to” or “in virtue of”. But in “The ball was kicked by John”, “by” does not
mean “in virtue of”. Moreover, in “The rabid dog was killed by the police by the
laws of Texas”, only the second “by” has the “in virtue of” /“according to” meaning.
Now suppose that A is justified by B by induction. If so, then A is justified by B, and
A is justified by induction. But this does not mean that induction bears the same
relation to A as B bears to A.

For simplicity, I will initially assume that the “by” in “A is justified by B” does
not mean “in virtue of” or “according to”. I will later dispense with this assumption.

As far as whether passive sentences with a by-phrase show an eventive/stative am-
biguity, some facts are clear. In some cases, the by-phrase forces an eventive reading.
“That door was smashed” has both eventive and stative readings; however, “That
door was smashed by John” only describes an event in which John smashed the door.
Many- perhaps most— verbs follow this pattern. Other verbs form unambiguously
stative active sentences (“John owned the house”) and unambiguously stative passive
sentences (“The house was owned by John”). There is also a third class of verbs. As
just observed, verbs like “surround”, and “justify” form active sentences that have
both stative and eventive readings. In the passive, with a by-phrase, such verbs yield
both stative and eventive readings. “My house was surrounded by Federal agents at
3pm yesterday” can either describe the state of my house at 3pm or an untoward
event at 3pm.

I am not sure whether sentences like “My house is surrounded by Federal agents”
which have at least one stative reading, have more than one stative reading. For one
thing, it is not clear what an eventive stative reading would be. Perhaps we may find
different stative readings by searching for different entailments. It may be that, on
one reading, “A is justified by B” entails “A is justified”®, while, on another reading,
this entailment is lacking. Or, perhaps, “A is justified by B” can either mean that A
is fully justified by B, or that A is partly justified by B. That is, “A is (fully) justified
by B” and “B is justified”® together entail “A is justified”, while “A is (partly)
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justified by B” and “B is justified”S do not.

The situation is confusing. In order to chart a clear path, I will ignore this possible
plethora of readings, and assume for purposes here that “A is justified by B” has only
one reading, a stative reading that lacks these entailments. I make this simplifying

assumption because at this point I unfortunately do not know how to clear things up.

1.5 Back to the Agrippan argument

We are now in a position to examine the Agrippan argument. One goal of this
section is to defend the thesis that the Agrippan argument has an unfilled gap: the
plausibly true readings of Premise I and II are not sufficient (with Premise III) for

the conclusion. A second goal is to explain how that thesis helps a non-skeptic.

1.5.1 Eventive Stative Version

Let me now clarify the Agrippan argument by disentangling eventive statives from
pure statives. Recall the premises:
Premise I: For any A, if A is justified, then A is justified by something.

Premise II: For any A and B, if A is justified, and A is justified by B, then B is
justified.

Premise III: Neither circular nor infinite chains suffice to confer justification.
Since Premise III is not my central focus here, let us accept Premise III. Premises
I and II contain as parts sentences of the form “X is justified”. Since such sentences
are ambiguous, plausibly, Premises I and II are ambiguous too. So we can try to
disambiguate Premises I and II. First, take the ambiguous parts as eventive statives:!¢
Premise Ia: if A is justified®S, then A is justified by something.
Premise ITaa: if A is justified®, and A is justified by B, then B is justified®S.
These premises (coupled with Premise III) are sufficient for the skeptical conclu-

sion. Should we accept them?

16] suppress the initial quantifiers, and also abuse notation slightly by attaching the superscript
to “justified”, but the meaning should be clear.
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There is reason to accept Premise Ia. As claimed earlier, “A was justified”£S
entails “Something justified A”. This is the entailment that distinguishes the eventive
stative from the pure stative. So, apparently, “A is justified” £S entails “Something
justifies A”. Thus, “A is justified” ©5 arguably entails “A is justified by something”.}”

However, Premise Ilaa is ‘n doubt. Recall the example given in section 1.3.1 in
support of Premise II. An unjustified belief that all the heads of state have moved to
San Francisco does not justify a belief that the Queen of England is in San Francisco.
This thought provides a reason to accept that only a B in a justified state can serve
as a justifier. This is not, however, a reason to accept that only a B in a justified
state as a result of an earlier justifying event can serve as a justifier. This thought
does nct adequately support Premise Ilaa.

Thus, I conclude that it is not clear whether or not to accept Premise Ilaa. Further
argument is needed. Perhaps someone could provide further argument. I merely point

out that Premise Ilaa lacks the evident plausibility that we found in Premise II. This

version of the Agrippan argument is incomplete, as it stands.

1.5.2 Pure Stative Version

Perhaps disambiguating in favor of the pure stative holds promise:

Premise Ib: if A is justified®, then A is justified by something.

Premise IIbb: if A is justified®, and A is justified by B, then B is justified®.

These two premises (coupled with Premise III) are also sufficient for the skeptical
conclusion.

We have reason to accept Premise IIbb. Unlike Premise Ilaa, Premise IIbb con-
tains “B is justified”S rather than “B is justified”£S. The earlier thought that there
are no unjustified justifiers does support Premise IIbb.

Premise Ib, however, is in doubt. As I urged in section 1.4.7, although it is clear
that if that house was built surrounded, then it was surrounded by something, it is

not obvious that if a belief was formed justified that it was justified by something.

7There is a leap here. “A is justified” £ entails “Something justified A” (on an eventive reading).
So, plausibly, it entails “Something justifies A” (on a stative reading).
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No matter how that house got into a state of being surrounded, it was surrounded by
something; “That house was surrounded”S entails “That house was surrounded by
something”. However, “A is justified”® may be true because A was formed justified.
And if A was formed justified, it is not clear that A was (or is) justified by something.
It is not clear whether or not to accept Premise Ib.

Thus, this version of the argument is also incomplete, as it stands.

1.5.3 Mixed Version

So far, we have seen that disambiguating in favor of the pure stative makes Premise
II look good, at the expense of casting doubt on Premise I. And disambiguating in
favor of the eventive stative makes Premise I looks good, at the expense of casting
doubt on Premise II. Since each of the two premises has a plausible disambiguation,
we can try combining them together:

Premise Ia: if A is justified®S, then A is justified by something.

Premise IIbb: if A is justified®, and A is justified by B, then B is justified®.

Despite their plausibility, Premise Ia and Premise IIbb (coupled with Premise III)
are not sufficient for the skeptical conclusion. Drawing the skeptical conclusion would
be to equivocate between the pure stative and the eventive stative. The argument
needs something more to link these premises together. These two supplementary
premises will do the job:

Premise ES-S: if A is justified®S, then A is justified®,
Premise S-ES: if A is justified®, then A is justified®S,

Premise ES-S is clearly true. “A is justified” S entails “A is justified”S: it is
impossible for A to be in a state (and be in that state as a result of a justifying
event), and fail to be in that state.

Premise S-ES is a substantial claim in need of argument. It needs to be argued
that any justified A is in that state as the result of a justifying event. Or at least, for
a restricted version of the Agrippan argument, every justified belief is in that state
as the result of a justifying event.

Perhaps a philosopher could defend Premise S-ES, or find some other way to make
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this version of the argument valid. But, as it stands, this version of the argument is,

like the others, incomplete.

1.5.4 Other Versions

We have examined three versions of the argument so far. There are eight versions
of the argument in all, because there are two disambiguations of Premise I, and four
disambiguations for Premise II. For the sake of completeness, here are all of them:
Premise Ia: if A is justified®S, then A is jﬁstiﬁed by something,.

Premise Ib: if A is justified®, then A is justified by something.

Premise Ilaa: if A is justifiedES, and A is justified by B, then B is justified®5.
Premise Ilab: if A is justified®S, and A is justified by B, then B is justifiedS.
Premise Ilba: if A is justified®, and A is justified by B, then B is justifiedS.
Premise IIbb: if A is justified, and A is justified by B, then B is justifiedS.

We need not tarry long on other versions of the argument. Premise IIab is plausible
because, given Premise ES-S, Ilab follows from the plausible IIbb. However, like IIbb,
IIab cannot be combined with Ia without something like the controversial Premise
S-ES. Premise IIba can be successfully combined with Ia. However, IIba is at least as
controversial as the controversial Ilaa. For, like Ilaa, IIba has an' eventive stative in
the consequent. Finally, although three further versions of the argument include Ib
they are not worth examining; if Ib can be defended than the Pure Stative Version

can be defended.

1.5.5 The gap

The plausible premises— Ia, IIbb and Ilab- cannot be combined with Premise III
to produce an argument sufficient for the Agrippan conclusion. I conclude that the
argument has an unfilled gap.

Each of the following three premises will fill the gap: Premise Ib, Premise Ilaa,
Premise S-ES. The last premise yields the other two. For suppose that Premise S-ES

is true. Then Ib follows from the Ia. And (given Premise ES-S) Ilaa follows from
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ITbb.

1.5.6 Shifty by-phrases

I have been assuming that “A is justified by B” has a univocal, stative meaning.
But, earlier I pointed out an ambiguity in passive sentences with by-phrases. In a
sentence like “A is justified by B by induction”, the second “by” means scmething
like “in virtue of” or “according to”, while the first does not. Perhaps shiftiness in
the meaning of the by-phrase also plays a role in the Agrippan argument. Let’s have
a look.
The controversial Premise Ib,

Premise Ib: If A is justified®, then A is justified by something,
seems trivially true if “by” here means “in virtue of”. Surely “A is justified” S, if true,
is true in virtue of something; something makes it the case that A is in that state. If,
instead, “by” takes on its usual meaning then Premise Ib is a controversial claim.

Moreover, any version of Premise II looks implausible on the “in virtue of” reading.
For if A is justified, and A is justified in virtue of B, why should we think that B is
justified? For example, I may be justified in believing some things in virtue of my
experience. But why think that my experience is something that needs to be— or
even can be— justified?

Shiftiness in the meaning of the by-phrase is one more source of confusion in
discussions of justification. And, perhaps, it is one more reason why the Agrippan ar-
gument appears compelling. On the “in virtue of” reading, Premise Ib looks trivially

true. On the other reading, Premise IIbb is plausible.

1.5.7 Two small steps forward for the non-skeptic

The thesis that there is an unfilled gap helps a non-skeptic in two ways.
First, the non-skeptic can explain away the force of the Agrippan argument.
Premise I appears true because Premise la is true. Premise II appears true be-

cause Premise IIbb is true. And the Agrippan argument appears valid because, on
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some disambiguations of the premises, the argument is valid. If it is one part of the
non-skeptic’s task to explain why this skeptical argument appears plausible, then the
non-skeptic has strengthened her position.

Second, the Agrippan argument poses no threat to the non-skeptic. The Agrippan
argument is incomplete without an additional premise like Ib, Ilaa or S-ES, and an
incomplete argument does not threaten the non-skeptic’s position.

These two points may not seem strong. One might wish, for example, for an
argument that Ib, Ilaa and S-ES are false. Still, even these two limited points are
interesting, at least for the foundationalist about justification. Consider the following
dialectic between skeptic and foundationalist. The skeptic presents Premises I, II and
III to argue that no belief can be justified. The foundationalist, assuming that some
beliefs are justified, argues that Premise I is false. Is the burden of proof on the skeptic
or the foundationalist? Is one side begging the question? If the skeptic’s argument has
an unfilled gap the foundationalist is free to offer her argument without responding
to the skeptic’s argument. Worries about question beggingness and burden of proof

can be set aside, at least until some other skeptical argument rears its head.!®

1.6 Concluding remarks

I began this chapter with the following difficult to deny claim:

Premise I: For any B, if B is justified, then B is justified by something.
I displayed the central role Premise I plays in the Agrippan argument. Examining
English passive sentences revealed that this premise, as well as Premise II of the
Agrippan argument, are ambiguous. I concluded that the argument has an unfilled
gap, and that this helps the non-skeptic.

What further conclusions can be drawn from this exercise?

18Curiously, the foundationalist who argues in favor of Premise III may run into trouble with the
Agrippan argument. For the support analogy also favors Premise Ib. And the infection analogy
favors the entailment from “A is justified”S to “A is justified”®S. On either analogy, the gap is
filled! Thus, if the thought behind either of the analogies is what drives the foundationalist to
accept Premise III, then the foundationalist’s reasons in favor of Premise III may undermine her
attempts to reject the Agrippan argument.
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1. As I noted earlier, few philosophers are driven to skepticism by the Agrippan
argument, but the argument is interesting nonetheless. The premises of the Agrippan
argument form a common core around which turns the debate about the structure
of justification. Foundationalists, coherentists, and infinitists all accept one or more
of the premises of the Agrippan argument. They just disagree about which premises
to accept. For example, coherentists and infinitists reject Premise III and accept
Premises I and II, while foundationalists accept Premise III and reject Premise I or
IL.

What I have shown here helps clarify this debate. To successfully argue against
foundationalism, coherentist/infinitists should argue for Ia, IIbb or ES-S. Founda-
tionalists must resist all three of Ia, IIbb and ES-S. In resisting, foundationalists can
add that Premise I and II appear true because they are true on some readings. For
instance, is Premise I true? If a belief is justified is it justified by something? A

foundationalist might say that this seems so because Premise Ib is true.

2. The present linguistic investigation provides distinctions useful for philosophers.
Here are some examples. As noted earlier, Alston (and others) draw a distinction
between: a person’s performing the activity of justifying a belief and a belief’s having
the status of being justified. Now we can gain more precision. First, there is the
distinction between a state and an event. A belief may be in a certain state, or an
event may occur in which a belief enters that state. That event need not involve an
activity of “justifying a belief” performed by a person. Second, there is a difference
between being in a state as a result of a certain event, and merely being in that state.

These distinctions are blurred by the English passive.

In addition, English passives with by-phrases are a source of unclarity. Some
foundationalists (e.g. Steup[60], Pryor[54], Feldman[24]) like to say that a belief
can be justified by experience but experience is not the kind of thing that needs
justification. I suspect that this is loose talk. As noted earlier, by-phrases can take on
an “in virtue of” / “according to” reading. In “That bar was closed by the police by the
laws of Massachusetts,” only the second by-phrase means “in virtue of” or “according

to”. Such foundationalists appear to mean that some beliefs can be justified in virtue
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of experience. But, the usual regress argument for foundationalism begins with a
premise like “some beliefs are justified by other beliefs.” Here the “in virtue of”
reading is not what is called for. Apparently, some foundationalists confusingly mix
together different readings of the by-phrase. (I say more about this in Chapter 2.)

3. Finally, the investigation begun here about passive sentences may bear fruit
beyond epistemology. If an event was caused, was it caused by something? 